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dhrest, [FIESHFNE. BRI SEHE0UE T AT Hth = BRI G sc. H AT, Rl H b =g i 5
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H I =R (TG AL 77 5 (7 i e B €k L AGH I i P 2 4 50 S sl i v ) H i = g
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HiE 5 O N R AE SR S AR AR, KBS & [N (Hantgseh ), AR 006 i 3 e ot
B 3,5- 7 Z8E-1,4- XA P EEMERE, F20 66 RETHE 420nm AEEEAT ELGINE , SAH [FIARER )
PRAERE R LTS B AR & T NSRS . MR R R T A =
B R AIE . AJTEpT AR =0 T Al iR L b, RS, #£ 0.25~11.44mg/m
(0.28~12.93mmol/L) Z A4 RUFIILNER R, IIVERETE. A OOH TRk, A
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IRF(A): TG brifE(2mg/ml) 1ml 4°C B
R7(B):TG IR 70ml RT &
BANC): PR IE G M 6ml RT
RF(D): 2L 30ml RT
RF(E):TG AL F 30ml 4°CHEE
RF(F):TG & A5 30ml 4°CHL
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2. TG it Tﬁ?EET%&EIEM XTH@%’*\ M, WAL, I R
G AR WORKERR Y TG SR v, R i B O R R e AT

AP (ml) T PRAEE e
&K 0.1 — —
TG F5ifE(2mg/ml) — 0.1 —
FE il — — 0.1
R 1.25 1.25 1.25
P P 2R 0.25 0.25 0.25
WA, R, #ES)E, WEER
B 0.15 0.15 0.15
AR 0.5 0.5 0.5
V8%), 56°C/KiE 5min
AL 0.5 0.5 0.5
7] 0.5 0.5 0.5
E21, 56°C/Kif 25min

3.7G Ml HUH O, /KA L FEERE, ELEMOEE 1em, H2 68 E HH5E 420nm
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TG(mg/100ml)=(A Ml & /A Fr#E) X 2 X 100/0.1=(A il 72 /A Fri) X 2000100g ZH 2354 B H
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TG(mg/100g)=(A I 5E /A F51HE) X 2 X VT/0.1 X 100/m=(A Wl € /A FrifE) X 2000 X VT/m
FE b A H I = BRI EE . TG(mg/mi)=(A M52 /A FRifE) X 2

A A WE = E B B RO RS

A BRTE=AR TR B RS

VT=—"7E i fE 20 23 1 20 JR ML AR AR (ml)
m=S2 R A B 4H 235 = (g)

TG IR EHE: 1mg/ml=1.13mmol/L

SENH
I3 TG IEH{E: 0.55~1.70mmol/L; I5F1E: 2.30mmol/L; f&l{H: 4.50mmol/L.
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7+ UM IEARAKES, & 1mg/mIEDTA.2K ikt .



